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If (x – 1) and (x + 3) are the factors of x2 + k1x + k2 then ?

1)k1 = –2, k2 = –3
2)k1 = 2, k2 = –3
3)k1 = 2, k2 = 3
4)k1 = –2, k2 = 3



If x = 2015, y = 2014 and z = 2013, then value of x2 + y2 + z2 – xy – yz – zx is ?

1)3
2)4
3)6
4)2



100 Men were employed to finish a work in 180 days. After 60 days it was found that only 1/5 of 
the work was done. How many more men must be employed to finish the work in the stipulated 
time ?
एक कार्य को 180 दिनो ों में समाप्त करने के दिए 100 व्यक्तिर्ोों को दनरु्ि दकर्ा गर्ा था। 60 दिनो ों के बाि
र्ह पार्ा गर्ा दक केवि 1/5 कार्य ही दकर्ा गर्ा था। दनर्ायररत समर् में काम खत्म करने के दिए दकतने और
पुरुषो ों को दनर्ोदित दकर्ा िाना चादहए?

1)100
2)200
3)300
4)150



A man can row 6 km/h in still water. If the speed of the current is 2 km/h, it takes 3hrs more in 
upstream than in the downstream for the same distance. The distance is ?
एक व्यक्ति शाोंत िि में 6 दकमी/घोंटा की गदत से चि सकता है। र्दि र्ारा की गदत 2 
दकमी/घोंटा है, तो र्ारा के प्रदतकूि में समान िूरी के दिए र्ारा के अनुकूि की तुिना में 3 घोंटे
अदर्क समर् िेती है। िूरी है?

1)30 km
2)24 km
3)20 km
4)32 km



9.6 × 3.6 + 7.2 + 10.8 of (1/18) – (1/10) = ?

1)42.26
2)24.26
3)40
4)45.26



Rashmi and Pallavi can make a carpet in 3 days and 12 days more than the time taken if both of 
them worked together. Find the time in which Rashmi can make the carpet alone?
रक्तिऔर पल्लवी एक कािीन को दिए गए समर् से 3 दिन और 12 दिन अदर्क में बना सकते
हैं र्दि वे िोनो ों एक साथ कार्य करें । रक्ति अकेिे कािीन बनाने में दकतना समर् िगा सकती
है?

1)9 days
2)6 days
3)12 days
4)8 days



A shopkeeper deals in milk and 45 litre mixture is to be distributed in Milk & Water in 
the ratio of 4 : 1. If 4 litre milk & 3 litre water will be added in the mixture then what 
will be the new ratio of water and milk?
एक िुकानिार िूर् का सौिा करता है और 45 िीटर दमश्रण को िूर् और पानी में 4:1 के अनुपात में बाोंटना
है। र्दि दमश्रण में 4 िीटर िूर् और 3 िीटर पानी दमिा दिर्ा िाए तो पानी और िूर् का नर्ा अनुपात क्या
होगा?

1)5 : 6
2)3 : 10
3)4 : 5
4)7 : 8



√(1827 ÷ 29 ÷ 7 + 567 ÷ 21) = ?

1)7
2)4
3)6
4)9



A piece of wire 78 cm long is bent in the form of an isosceles triangle. If the ratio of one of the 
equal sides to the base is 5 : 3, then what is the length of the base ?
तार का एक टुकडा 78 सेमी िोंबा एक समदिबाहु दिभुि के रूप में मुडा हुआ है। र्दि समान
भुिाओों में से दकसी एक का आर्ार से अनुपात 5:3 है, तो आर्ार की िोंबाई क्या है?

1)16 cm
2)18 cm
3)20 cm
4)30 cm



In an examination Tarang got 25% marks and failed by 64 marks. If he had got 40% marks he 
would have secured 32 marks more than the pass marks. Find the percentage of pass marks?
एक परीक्षा में तरोंग ने 25% अोंक प्राप्त दकएऔर 64 अोंको ों से अनुत्तीणय हो गए। र्दि उसे 40% अोंक
प्राप्त होते तो वह उत्तीणय अोंको ों से 32 अोंक अदर्क प्राप्त करता। उत्तीणय अोंको ों का प्रदतशत ज्ञात
कीदिए?

1)224 marks
2)250 marks
3)150 marks
4)295 mark



If the numerator of a fraction is increased by 150% and the denominator of a fraction 
increased by 200%, fraction becomes 10/19. Find the fraction ?
र्दि दकसी दभन्न के अोंश में 150% की वृक्ति की िाती है और दभन्न के हर में 200% की
वृक्ति की िाती है, तो दभन्न 10/19 हो िाती है। दभन्न ज्ञात कीदिरे्?

1)17/10
2)16/12
3)19/9
4)NOT



Anuj and Meetu work in a shop and Anuj's salary is 5/6th of the salary of Meetu. They spend 
same money of Rs 2000 and after that save all the money. Find the salary of Anuj and Meetu if 
the ratio of their savings is 4 : 5 ?
अनुि और मीतू एक िुकान में काम करते हैं और अनुि का वेतन मीतू के वेतन का 5/6 है। वे
2000 रुपरे् का एक ही पैसा खचय करते हैं और उसके बाि सारा पैसा बचा िेते हैं। अनुि और
मीतू का वेतन ज्ञात कीदिए, र्दि उनकी बचत का अनुपात 4:5 है?

1)Rs. 10000, Rs 12000
2)Rs.15500, Rs 12500
3)Rs. 8000, Rs 10000
4)Rs. 11000, Rs 8000



The ratio of the Mother's age to her daughter's age is 9 : 5. The product of their ages 
is 1125. The ratio of their ages after five years will be ?
माता की आरु् का उनकी पुिी की आरु् से अनुपात 9:5 है। उनकी आरु् का गुणनफि
1125 है। पाोंच वषय बाि उनकी आरु् का अनुपात होगा?

1)1 : 3
2)2 : 3
3)3 : 4
4)5 : 3



Two-thirds of a consignment was sold at a profit of 6% while the rest at a loss of 3%. If 
there was an over all profit of Rs. 1080, the value of the consignment was ?
एक खेप का िो-दतहाई दहस्सा 6% के िाभ पर बेचा गर्ा िबदक शेष को 3% की
हादन पर बेचा गर्ा। र्दि रुपरे् का समग्र िाभ होता। 1080, खेप का मूल्य था ?

1)Rs. 25000
2)Rs. 40000
3)Rs. 35000
4)Rs. 36000



Two trains, A and B start from the stations X and Y towards each other. They take 4 hours 48 
mins and 3 hours 20 mins to reach Y and X respectively after they meet. If train A is moving at 
45 km/hr, then the speed of train B is ?
िो टर ेनें, A और B, से्टशन X और Y से एक िूसरे की ओर चिना शुरू करती हैं। वे दमिने के बाि
क्रमशः Y और X तक पहुुँचने में 4 घोंटे 48 दमनट और 3 घोंटे 20 दमनट का समर् िेते हैं। र्दि टर ेन
A 45 दकमी/घोंटा की गदत से चि रही है, तो टर ेन B की गदत है?

1)60 km/hr
2)64.8 km/h
3)54 km/hr
4)37.5 km/hr



Mukul, Atul and Rahul started a business. Mukul invested 2/7th of the total 
investment and the total investment of Mukul and Atul is equals to the investment of 
Rahul. If they distributed profit in the capital ratio and Atul received Rs 1530, find the 
total profit ?
मुकुि, अतुिऔर राहुि ने एक व्यवसार् शुरू दकर्ा। मुकुि ने कुि दनवेश का 2/7वाों दहस्सा दनवेश
दकर्ा और मुकुि और अतुि का कुि दनवेश राहुि के दनवेश के बराबर है। र्दि उन्ोोंने िाभ को
पूोंिी अनुपात में दवतररत दकर्ा और अतुि को 1530 रुपरे् प्राप्त हुए, तो कुि िाभ ज्ञात कीदिए?

1)Rs 6550
2)Rs 6920
3)Rs 7140
4)Rs 7350



How many kilograms of rice of Rs.5.4 per kg should be mixed with 10 kg of rice of Rs.4.5 per kg, 
such that there may be gain of 20% by selling the mixture at Rs.5.94 per kg ?
5.4 रुपरे् प्रदत दकिो के दकतने दकिोग्राम चावि को 4.5 रुपरे् प्रदत दकिो के 10 दकिो चावि
के साथ दमिार्ा िाना चादहए, तादक दमश्रण को 5.94 रुपरे् प्रदत दकिो पर बेचने पर 20% का
िाभ हो?

1)10 kg
2)12 kg
3)15 kg
4)8 kg



If x + ( 1 / x) = 1 than x50 + x51 + x52 + x53 + x54 + x55 = ?

1)6
2)3
3)2
4)0


